T4 EE (202258 %)

\_ \(Eloss=E==5i

(== /A1)

ABEHPULE-—PER

R 2 % NEAIRELEE] L £ &
B (B ;E'?J P elz"mli=2 1T E S = g2 B % EF 2 A
ER £ @ |12 | 13 | 14 | 15 | %5E |o]| % 15:30 hfEES (&) FES
2 | K #E| 16 | 17 |19 | 20 | 21 | H |0|0O[16:30]|18:00( shigRp#RBahERARLTS
3 |2 =E| 22 |23 |24 |25 | 26 | # |0|0|[16:30]18:00| ss«mEmraitiis
4 | L | SRk EEEAR
5 | B
6 |A x| 1 2 3 4 5 % |of«x 16:30| 2F4MmBREBAHAS G
7 |k #z| 6 8 9 |10 |11 o|o|15:30[18:00| @iz
8 |k =z INnnNo| 12 | 13 |14 |15 | % o] x 15:30( NiNoo A EfER RRO o1=Pr
9 |K #=(16 | 18 | 19 | 20 | 21 0|0 ]15:30[18:00| 2. s&tmumENRIRE MASCHEE
10 |#& w222 |23 |24 | 25 | 26 olo]16:30[18:00 FRReSEETEaS
11 || iEmRbgsRakEAsd
12 | B | hiEpRb2ERatEA20
13 |A Er= I | 2 3 4 5 % |o]x 16:30 HwEam
14 |k mE| 7 8 9 |10 |11 o|o|15:30[18:00 !
15 |k % 8 |12 |13 |14 | 15 ofx 15:30| % 2@Essmme | RR®@
16 |K =17 |18 |19 | 20 | 21 OO |[15:30]18:00| 14&4EERHEL |
17 |# FE| 22 |23 |24 | 25 |26 | # |o|o|16:30[18:00| sa=meT v s
18 | L | shiEtRpERBEHREARD
19 | B | hiEtRr2HRahEA0
20 |A 3l 16 17 18 Jl19 I 21 IEERE 16:30
21 [k x=| 6 7 8 9 10 | 11 [0]|0O|16:30(18:00| 3&£mEs
22 |k =2 R MO B3 o x 14:00| BgrY=vs®
23 |& zz2(16 [ 17 [ 18 | 19 [IEM olo15:30]18:00| waxEEsCHaAREDIRE MERSCHERE PIAREZEE2Q
24 |& zz| 22 | 23 [N BY B o |o|i6:30[18:00] retrezazscons FPTAR BEBATHES
25 | £ | sisRbgERaKEARD
26 | B | shistRepspearEARO
27 |A wmE| 1 | 2 | 3] 45 o x 16:30 BEEEYEY (5)
28 | s=| 6 7 8 9 10 | 11 |O| % 16:30
29 |k £ @ (12 | 13 | 14 | 15 | %5E |o]| % 15:30| 1&£mume RS ()
30 |K =l r | T | T | T o x 14:30] 1, 245 1 288K TR +D- 3ELE2EEEFR LD
A4
o | o morom oo 8P TE B0 . I AR




